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ML [Single Correct Answer)

For the four circles M, M, O and F, following four equations are given :
Circle M @ x% & i = 1
Circle M @ x% £ i 2x = @

z

Circle O @ x% & i Z2x — Zy £ 1 =0

z

Circle P @ x +3.-'2 2y = @

If the centre of circle M is joined with centre of the circle N, further center
of circle N 15 joined with centre of the circle O, centre of circle O is joined
with the centre of circle P and lastly, centre of circle P is joined with centre
of circle M, then these 1lines form the sides of a

) Rhombus
£ Sguare
> Rectangle

i Forallelogram

Explanation
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Choose the correct stotement abouwt two circles whose equations are given below :

x2 + w2 — 19wk — 10y + 41 = B
®2 4 w@ _ 22w — 10y + 137 = @

€ circles have some centre

€ circles have no meeting point

€ circles have only one meeting point
@ circles have two meeting points

Explanation

Let &,:a% +¢? — 1= — 10y + 41 =0

Centre ()

[3, 5}

Radius r; = 3

Saa® 4y? —22% — 10y+ 13T =0
= [ — Jl.i2+l:5l—-'r_|2=!:'
Cenmtre (L) =1(11,5]

Radius rz = 3

- " ]
5 — 111+ (5 —8)°

distance (&%) =
distance (&%) =06
- g t+rg=3+3=86

- Circles ftouch externally

Hence, circle hawve only ocne meeting point.
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Let the circle 5 : 3Ex2 + 692 — 18Ex + 128y + C = @ be such thot it neither
intersacts nor touches the co-ordimote oxes. If the point of intersection of the
lines, = — Zy = 4 and 2x — ¥ = 5 lies inside the circle 5, then

QF-c<y
B 182 < C = 165
@ 5L < C < 156
& 183 <« L <« 156
Explanation

5 @ IEx® & 36y _ 18Ex + 128y + C = @

- X2 F ¥2 _ Jx+ Sy + S =0
Centre =1—g. —Ffi1=1(3.532)
radius = i _".-"m

Moy,

s B

g

- C = 1B@ .. .._. 1)

Mow, point of intersection of = — 2y = 4 ond Zx — w = 5 1= (2, —1), which lies
inside the circle 5.

52, —131 = @
— [Z¥ + (-1 — 32D + (12 + & = @

- 4 + 1 — B — W £

From (13 & {23

188 = C « 156 #Ans.



